

Written by :

UMAR SAEED Bunarai Msc:Mathematics

Notes: Fuzzy sets theory Followed book: Mathematics of fuzzy sets and fuzzy logic For Students: For MSc and BS Dedicated to: All my MSc friends Spacial thanks to: Fazal Ullah Fazal (Msc mathematics)

Contact us:

<u>umar.saeed55555@gmail.com</u> Mob: <u>03441926852</u>

> Scanned with CamScanner Scanned with CamScanner

Available at www.MathCity.org

4

		INDEX		Pase
Sr. No.	Date	Торіс	Teacher's Sign	Parent's Sign
1	5	Fuzzy set with exam	de	01
2		Intersect, union, etc.		02
3		Cross product with exampl	0	04
4		Level set, cover support set		0.5
5	r.	properties of Fuzzy sets		07
6		Assignment		08
	ch#21			
1		Negation and its types		10
2	I	t-norm and s-norm or t-conorm (C.95).		1a
3		De-Margen triplit (P.g)		17
4		Fuzzy Implication (e.1)		27
5		S-Implication		32
6		R-Implication		34
7	ch#3	Fyzzy Equivalence		36
1		Fuzzy Relation		404
2		Composition		46
3		Man-Min Composition		4.6
4	+	Mig - Max Composition		50
5	+	Min-> Composition	3	55
6		Subcomposition & Super Compos		58
7		Fuzzy relational equilibrium with Man-Min and		
		Min-> composition		60
8		May - 1-norm Composition		68
9		Min - Composition		69

Scanned with CamScanner

ph= 01 uzzy set :- Let X is non empty set (X=+) then a fuzzy set is defined as follows: A= E(x, UAGO) INEX3 where x is a particular element of X and Un: X > [0, 1] is called membership function and UA(21) is called degree of membership of K. Example = X = {1,2,3,4,5} then funzzy set of X as: A = { (1,0.9), (2,0.5), (3,0.4), (4,0.6) (5,0.2) ox also we written a $U_{A}(1) = 0.9$, $U_{A}(2) = 0.5$ UA(3)=0.4. UA(4)=0.6. UA(5)=0.2 otfi Zadeh: * He was born in 1921 in Azerbaijan (Mis Family From Iran). * He was mathematician, electricle engineer and artificial inteligence reacher. * professor of computer science, at the university of california Berkeley (US) (Amerika). * He published fuzzy set theory in 1965. * In 1973 he proposed his theory of fuzzy logic. * Died in 6 september 2017

phioa Intersection of fuzzy sets:-Let Us and Up be two fuzzy sets . Then intersection of UA and UB is denoted by UARIUB and defined as (UADUB) CN = min { Up (N), UB (N)} Example := X = { 1, 2, 3} $U_{A} = \{(1,0.8)(2,0.3)(3,0.7)\}$ UB= {(1, 0.2) (2, 0.7) (3, 0.3)} $(U_A \cap U_B) = \{(1, \min(0.8, 0.2)), (2, \min(0.3, 0.7))\}$ (3, min (0.7,0-3))} $= \{ (1, 0.2) (2, 0.3) (3, 0.3) \}$ Example :-X= {x,, x23. Un = { (x1,0.3) (x2,0.8)} UB = { (N, 0.7) (x2, 0.2)} (Un Que) = { (N1, 0.3) (N2, 0.2)} nion of fuzzy sets: Let Up and Up be two fuzzy sets of X. Then Union of Up Us is denoted by UpUup and defined as (UpUus)(W) = man { Up (M), UB(M)}

ph 03 Example: X = {1,2,3} UA = { (1, 0.8) (2,0.3) (3, 0.7) } UB = { (1, 0.2) (2, 0.7) (3, 0.3)} (UAUUB)(1) = {(1, man (0.8,0.2)) (2, man (0.3,0.7)) (3, man (0.7,0.3))} { (1, 0.8) (2, 0.7) (3, 0.7) } Example = $X = \{x_1, x_2\}$ UA = { (x1,0.3) (n2,0.8)} UB = { (K1 0.7) (X2, 0.2)} (UAUUB)(0) = { (21,0.7), (12,0.8)} Iniversal set = A set whose degree of membership is 1 called universal set. empty set . A set whose degree of membership is 0 called empty set -ompliment: - Compliment of fuzzy set is denoted by U(()) and defined asi Upe(21) = 1- Up(22) Example: X = {1.2,3} ---- A --- { (1, 0.6), (2, 0.3) (3, 0.7) } then (A= in) = { (1 - 1-0.6), (2 - 1-0.3), (3 - 1-0.7)} 5 (1,0.4) 3(2,0.7), (3,0.3)3 ed with CamScanner

Available at www.MathCity.org ph 04 $\frac{E_{xample}}{-A_{xample}} = \frac{X = \{X_{13}, X_{2}, X_{3}\}}{(X_{13}, 0.5)(X_{2}, 0.6)(X_{3}, 0.4)\}}$ A" = { (21,0.5) (22,0.4) (23,0.6)} ross product (cartesian product of Un, Uz, Uz, ..., Un be X1, X2, X3, ... n-fuzzy sets of respectivly UXU2 X U3 X : . . X Un (K1, K2, N3, ..., Nn) = min & U. (NI) , U2 (22) , US (23), ... Unte Example :-X= { 1 , 2 , 3 } X2 = { 4 - 5 - 5 6 - 3 Ar= { (1,0.2) (2., 0.3) (3.,0.5) } 18(7)= { (4,0.8) (5,0.6) (6,0.3)} Ux Uz (Misha)=min (A(xi), B(xi) 5 6 1 0.2 0.2 0.2 = 2 AX BI 6.3 0.3 0.3 0.5 0.5 0.3 {[(1,4),0.2],[(1,5),0.2],[(1,6),0.2] - [(2, w), 0.3], [(2, 5), 0.3], [(2, 6), 0.3], [(3,4), 0.5], [(3,5), 0.5], [(3,6), 0.3]]

Ph 05 Example $X_1 = \{1, 2, 3, 4\}$ X, = { 5, 6, 7, 8} A.(X1) = { (1,0.3) (2,0.5) (3,0.7) (4,0.9)} B. (X2) = { (5,0.2) (6,0.4) (7,0.6) (8,0.3) } (A × B12 (X1, X2) = min { U1(M1) , U2(N2)} $A \times B = \{ [(1,5), \min(0.3, 0.2) \} [(1,6), \min(0.3, 0.4)] \}$ [(1,3), min(0.3,0.6)] [(1,8), min (0.3,0.2)] $\left[(2,5) \atop (0.5,0.2) \right] \left[(2,6) \atop (0.5,0.6) \right] \left[(2,7) \atop (0.5,0.6) \right]$ [(2,8).min(0.5,0.8)] [(3,5), min(0.7,0.2)] [(3,6).min(0.7,0.4)] [(3,7), min (0.7,0.6)][(3,8), min (0.7,0.8)][(4,5), min (0.9,0.2)] [(4,6), min (0.9.0.4)] [(4,7), min (0.9.0.6)] [(4,8), min (0.9.0.8) = { [(1,5), 0.2], [(1,6), 0.3] [(1,7), 0.3] [(1,8), 0.3] [(2,5), 0.2] [(2,6), 0.4] [(2,7), 0.5] [(2,8), 0.5] [(3,5),0.2] [(3,6),0.4] [(3,7),0.6] [(3,8),0.7] [(4,5), 0.2] [(4,6), 0.4] [(4,7), 0.6] [(4,8), 0.8] evel set (a-cutset): Let X be a non empty set and Un be in a fuzzy set of than Devel set or a-cut set is defined as Ad = { x ex | UN(21) > x} for de (0,1] example :-X= {1,2,33 UA = { (1,0.3) (2,0.7) (3,0.5)}

ph 06 x= 0.2 then AX = { (KEX | K > X } A0.3 = { 1,2,3} if x= 0.6 then A0.6 = { 2 } if d= o.y then Ao.y = { 2,3} ove set :- Let X be non-empty and Up be a fuzzy of X then cove set is defined as. A1 = ENEX UA (21) = 12 Example: X = { n, x2, n3} Up = { (2)) (22) (2300) A1 = { N13 222 Support set :- Let X be non-empty set and Up be a fuzzy of X then support set be defined as Supp A= ExEXIUACU203 Example : X = { M, x2, x32 - Un= { (x1,0) (x2,0.3) (x3,0.1)} then SUPP A= { N2 x2} Subset OF Fuzzy sets :-Let_Us_and_Us_ be two Scanned with CamScann

ph 07 fuzzy sets of X then we said that Un is subset of ub if Unou) Lugar) FREX Example :-X = { x1 , x23 UA= { (N1, 0.2) (x2, 0.3) } UB = E(x1, 0.4) (x2, 0.5)3 UC = { (N1, 0.4) {x2,0.1)3 ٩. Thus Up ≤ Up because Up(2) ≤ UBON) YKEX. And Up & Uc because Up (212) & UBG(2) Also UC & UA because UC(41) & UA(41) Properties of Fuzzy sets: Note we denote Union by V and interschienby A (1) Associative property :-UAA (UBAUR) = (UAAUB)AUL LHS (UAALUBAUC))x= min { UA(M), (UBAUC) (N)} - min {UA (4) min (1B(2), uc(4)) } · min { UA LN), UB (N), U (DI) } RHS. ((UAN UB)NUL) N= min { (UANUB)N, UL(N)} = min { UB(W), UB(M), UL (W)} RHS- LHS

ph 08 Similarly UAV(UBVU) = (UAVUB)VUL (2) Commytative property :-UAAUB = UBAUA UNUB = UBVUA (3) Identity property:-AAX= A $A \lor \phi = A$ (4) Absorbtion by Q and X $A \wedge \phi = \phi$ AVX = X (5) I dempotence :-AVA= A AAA= A. Presf :-ADA = A (ANA)N= min (AW), AW) = A(m) ANA = A jarly B simil (Band B) (6) De Morgen Laws:-AAB = AVB LHS (ANBIN= 1- (ANB)N = 1-min(Aco, B(m)) - mar { 1- A(M), 1- B(N)} = man & A(N), B(N)] - AGON B(N) ANB = AVB Scanned with CamScanner

Available at www.MathCity.org ph 08 Similarly ANB = ANB. (7) Distributive: AN (BUC) = & ANB) V (ANC). AN(BAC) = (ANB) A (AMC) (8) Involution :-Ā = A A(n) = 1-A(n) $\bar{A}(n) = 1 - \bar{A}(n) = 1 - (1 - A(n))$ = A(N) $\overline{A} = \overline{A}$ (9) Absorption :-AA(AVB) = A (AA (AVB)) = min (A(N), (AVB)(N)) = min (A(x), man (A(N), B(N))) = min (A(n), B(n) or A(n)) A(N). AN (AVB) = Similarly AV(AAB) = A Assignment: If A is a non-classical fuzzy set A: X-> [0,1] (jethen, there exist KEX with A(x) \$ { 0,13 then A A À 7 4 ANA X proof :if rex is such that oc Acould o' A CN) < 1 and then then OLANKING and OLANALI For example :-Scanned with CamScanner

ph og X= { 1,23 A= { (1,0.4) (2,0.3)3 and A = { (1,0.6) (2,0.7)} then AAA= {(1, min (0.4, 0.6)) ((2, min (0.3, 0.7))) $A \land \bar{A} = \{(1, 0, 4) (3, 0, 3)\} \neq \phi$ ANA = \$ Also AVA = { (1, man(0.4, 0.6)) (2, max(0.3, 0.7))} AVA = { (1,0.6) (2,0.7) } = X AAĀ + X

Scanned with CamScanner Scanned with CamScanner

ch # 2 ph 10 Negation: A function N:[0,1] > [0,1] is called Negation if * N(0)=1 and N(1)=0 and Nis non-increasing (x 2y => N(2) > N(2)) Strict negation :-A negation is called strict negation Ifit is stricktly decreasing x xy + N(N) > N(Y) Strong negation :-<u>A strict negation is said</u> to be Strong negation if it is also invalutive i-e N(N(N)) = X Example :-N(n) = 1- x * N(0)= 1 , N(1)=0 and 2 4 y x 2-7 = 1-x 21-4 $\Rightarrow N(x) \geq N(y)$ It is negation. x < y = -x > - y. × >1-x>1-y => N(N)>N(y) . It is strict Negation. * NCN)= 1- X N(N(N)) = 1- N(N) = 1 - (1 - X) $= 1 - 1 + \chi$ $N(N(n)) = \chi$ 11 is strong negation Scanned with CamScanner

ph 11 $Enample: N_{\lambda}(n) = \frac{1-n}{1+\lambda n},$ $(X = N_{\lambda}(0) = 1, N_{\lambda}(1) = 0$ and x ≤y -x 2 - y = 1- x 2 1- y $\frac{1-k}{1+\lambda x} \ge \frac{1-3}{1+\lambda 3}$ > NJ(2) > NJ(Y) gt is Negation. xcy. 1-K > 1-J => N(M) > N, (J). 1+1n 1+23 It is strict negation. * $N_{\lambda}(x) = \frac{1-\chi}{1+\chi x}$ $N(N_{\lambda}(m)) = \frac{1 - N(m)}{1 + \lambda N(m)}$ 1- 1- N 1+ 22 <u>1+24-(1-4)</u> = 1+24 $1+\lambda\left(\frac{1-\kappa}{2}\right)$ 1+ XN+X (1-N) 1+XN 1+ 12 -1+2 YN+X 1+ Jx+ J- Ju 1+2 $N(N_{\lambda}(x)) = X$ It is strong Negation = NJ(n) = 1+Xn strong Negation called X- (ompement.

ph 12 Triangular Norms and Conorms :-- Norm (t-norm) :t-novm is function $T: [0,1] \times [0,1] = [0,1]^2 \rightarrow [0,1]$ that satisfies the following properties: TIT (M, I) = x (identity) T2: T(ny) = T(J) (commutative) T3: T(N, T(S)Z))= T(T(N,S),Z) (associativity Ty: if x = 4 and y = V then $T(n, y) \leq T(y, y)$. S-Nam (Conam):-S-norm is a function S: [0,1]2-> [0,1] that satisfies following properties: SI: S(MO) = X (identity) S2: S(M,J) = S(J) (Commutative) Soi S (N, S(J) = S (S(N, J), Z) associative Sy: if new yes then S(N, Y) < S(U,V) Example: T(4,3) = min { 1,3 } 1,3 6 [0,1] T1: T(1)= min {x,1}=x. satisfied. 51: T (NO) = min { NO3 = 0 = 12 thus S-norm condition not T2: T (4,3) = min { N, 3} = min { y, 2} = T { y, 2} satisfied. Scanned with CamScanner

ph 13 Iz: T{n, T(y,z)} = = min { ~ min (], z)} = min { n, y, z} = min { min (my), z} =min & T (N.y), Z } = T { T (Muy) 23 satisfy Ty: KELL and YEV then min {u, y} < min {u, v} - T { Wy} < T { U, U} Thus T(NJ) = min {NJ] is t-norm Example :-T (n, z)= x.y is + therm ? Ti: T(N,1)= K. satisfy T2: T(MJ)= NY= YX = T(J) satisfy $T_3: T(N_3T(y_2)) = T(N_3y_2) = Nyz$ = (xy).z = T(xy,z) T(T(Myy))z) satisfy Ty: x ≤ u and y ≤ v. 3 ny cur = T(Ny) = T(WW) T(Ny) = xy is t-norm proved Engapple :-S(n, J) = x+ y - 2 y Scanned with CamScanner

ph 14 S.: S(x,o) = X satisfy S2: 5(x,y) = x+y-xy = y+x=yx = S(J)2) Satisfy 53: 5 (N, 5(y,z)) = 5(N, y+z-yz) LHLZ = x+ y+z-yz - x (y+z-yz) = x+y+z-yz-ny-nz+nyz RHS S (S (M, J), Z) = 5 (x+3-x 3) z) = x+y-xy+z - (x+y- 4y)(z) = x+y-ny+z-kz-yz+uyz = ル+3+2-32-23-22+22 => LHS = RHS Satisty. Sy: KEY and YEV .: RETOIT $(x+y-x) \leq (u+v-uv)$ $S(N,Y) \leq S(U,V)$. erample 0.2 < 0.3, 0.4 < 0.5 0.2+0.4- (0.2) (0.4) < 0.3+0.3- (0.3) (0.1) 0.52 2 0.65

Scanned with CamScanner Scanned with CamScanner

ph 16 Definition :-Let F(n) be collections of all Fuzzy sets of X. and T.S:[0,1] -> [0,1] at t-norm and t-conorm. then operation For any Un, UB can be defined as Following: (UATUB) = UA(N) T UB(N) (UASUB) x = UA(N) SUBCN) proposition :-(2.11) given any t-norm T and t-conorm S We have T(N, 0) = 0 and S(N, 1) = 1 VRE[01] proof :- From TI the have T (0,1) = 0 T(0, x) = T(0, 1) = . From Ty as 040, x41 => T (0,x) ST (0,1) => T(0,x)=0 T (x, 0) = 0 : Erom T2, T(4,7)=T(3,4) Now From SI we have S(1.0) = 1 1= 5(1,0) ≤ S(1,K) .: From 54 05 1≤1,0≤K => 3(10) 55(1.30) 1 = S(1, x)=> S(1)N)=1 S(N, 1) = 1: Exom S2 - S(M,y) = S(y, M) Proposition :- (2.12) let T and S be t-norm and t-conorm then, (i) T (M, y) < N NY and (ii) S (M, y) > NUY - for any My E [0, 1] Proof + since from The we have T(11,1) = N_

ph 17 T(N,V) & T(N,1) = N-D: From The as NEN, YEL = T(ny) = T(n,1) Also Exam To we have $T(n,y) = T(y,n) \leq T(y,i) = y - 0$; From Ty, yey, KEL T (4, 1) = T (3,1) then From TI. T (3,1) = 9 From () and (2) T(Ny) AT(Ny) < NAY T(1,y) & X Ay) (ii) D x=S(n,0) 2 S(N;y) - J. From Sy and SI Also y= 5(4,0) ≤ 5(7)N)= 5(N,Y) = 1 _ 0 . From Sz Sy and SI From Dand 2 S(My) V S(My) > NVY S(N,Y) Z NVY le-Morgen Triplet :triplet (STN) is called De-Morgen triplet if T is t-norm and S is s-norm and N is a strong Negation. Also Full Fill De-Morgen law: S(N,y) = N(T(N(N), N(y)))

ph 18 Example :-T(N,Y) = NAY S(X,J) = XVY N(K) = 1-X Form a de-morgen triplit? (1) T(My) = x Ay it is a t-norm see in ph 12 (example) (2) S(N,y) = N,y(i) SiS(M, 0) = man(N, y) = man(N, 0)= 2 ' satisfy. (ii) S(x,y) = max(x,y) = max(y,x) = S(y,x)(iii) S(N,S(J,Z)) = man (N, JVZ) = may (N, max (J,Z)) =may (K, y, z) 5(5(M,J))z) = man (XVY) z))) = max (man (Moy))= 2) = max (1, y, z) LHS = RHS (iv) if new, yev. then man (1, y) & man (u,v) S(N, Y) & S(U,V). Thus it is s= norm. (3) N(N) = 1-N it is a strong Negation see ph 10, enample (4) $S(N_{7}) = N(T(N(N), N(Y)))$ = N[N(W) A N(Y)] .: FNORM = I- [N (N) N N(Y)] "def Negation = (1- N(M)) V (1- N(Y)) $=(1-(1-m)) \vee (1-(1-y))$ = NVY = S(NJ) .: def S-Norm It form a de margen triplet. Scanned with CamScanner

Ph 19 2.16 enample (2):- T (1,y) = N.Y S(n,y) = n+y-ny $N(N) = 1 - \chi$ form q Solution :de morgen triplet T (ny) = ny gt is t-Norm (see ph 13) (a) S(N) = n+y-xy It is S-Norm (see ph 13) (3) N(1) = 1-N It is strong negation (see ph 10) if given example satisfy de-morgen law then it form a demosgen triplet S(N, y) = N[T(N(1), N(y))] = 1- (N(N))(N(J)) ... because of negation -1-[(1-x)(1-3)] [1-y-x+xy] = 1-1+3+2-23 = n+y-ny-S(N,3) = S(N,3) Thus it form de-morgen toplet example (3) (2.17):-T (N3) = (N+y-1)x0 5 (N3) = (N+y) n1 NUM = 1-2 Form a demorgen triplet. Scanned with CamScanner

Available at www.MathCity.org

T(123)= man[1+3-1,0] ph 20 DijT (x,1) = man [x+y-1,0] = man [1,0] (ii) T (My) = man [N+y-1, 0] = man [0, N+y-1] =T(y,n)(iii) T (n, T (J,Z)) = ... , T (n, man[J+Z-1,0] = (x+(y+z-1)-1) V D $T(T(n,y),z) = T[(n+y+z-a)v_0]$ = (x+y-1+z-1) VO (x+y+z-2)Vo. (satisty) (V) XELL, YEV (x+y-1)vo2(u+v-1)vo, $T(1,y) \leq T(y,v)$. T(X,y) = (X+y-1) VO is t-norm is S(no)= - {(x+y) ~1]= (nn) (ii) $S(1, 3) = (1+3) \wedge 1 = (3+1) \wedge 1 = S(3+1)$ (iii) S (N. 5(y.z))= $= S(N, (y+z) \wedge 1) = (N+y+z) \wedge 1.$ S(S(N,J),Z))= S((X+y)N1,Z) = (N+7+2) NI $(x+y) \land 1 \leq (u+y) \land 1$ (iv) S(NY) 2 S(4,V) 6(1,3) = (n+3) NI 15 5-10m Scanned with CamScanner

ph al N(n) = 1- n is a strong Negation S(NJ) = N[T(NU),N(y) 9 NUN+NOD-1)VO -N+1-y-1)vo VO -n-J)VO man [1-11-4,0] (1-M-Y), 1-0 min N+9,1 (n+y)N1 = 500y)7 41 Form a de-morgen triplet Enample (2.18):-T(1,y)=_ if x My (1)_ 2.11 XA Ŧ if. <1/5+ N+in1 Since 1+1 > min (n,1) Satisty (2) T (2, 3) 1 vertes X JAX ١¢ 47FC τF J+K 5 Scanned with CamScanner

ph aa

= T(JIN). (T.(N, YNZ)_ +_ y+Z>1_ (3) T (N, T (3, Z)) = { o otherwise KNYNZ if X+YNZ>1 otherwise if n+y+2>1 MAJAZ otherwise MSO IZE+N HI (SLEAN)T T(T(4,3),2) otherwise 6 RAYAZ if RAY+Z>1 otherwise nnynz if n+J+z>l 0 otherwise > T(N,T(3)=)) - T(T(M,J),Z) (4) if year, yev. case (1) x+y>2, u+v>1 any E UNV T(N,y) = T(U,V) case (II) X+YEL JUAN>1 OLUNY T(N,N) & T(U,N) Case (III) x+y ≤1, U+V≤1 0 6 0 . T(W,Y) ET (U,V) => T is t-norm.

ph 22: if Ktycl nvy S(N,y) = 1 otherworse -(i) _ S (x, o) = NVO 14 14021 otherwise S(N,0) = 30 NUM NAME (ii) S(N.y) = otherwize YVN if y+nK] Aherwise S(n,y) S(3,n) ら(ダッマ)い 3+221 S(N, S(3,2)) (iii) 1 other wise KUJUZ is N+YVZ21 otherwise NUYUZ R+Y+ZC1 if Alterisise 1 5 (NV9, 2) if N+921 S(S(1,3), Z) 1 57 hervis NVY VZ if n+y+z<1 1 Alevun se S(N, S(312)) = S(S(M, y), z) => UN) M.L.V. LU 2+7 21. JUINCI NVY ZUVV => S(my) = S(U,U)

Ph 23 Case II N+JKI and U+VSI > nug < 1 $max(u,v) \leq 1$ = scale scale) $S(M,Y) \leq S(M,V)$. Case III N+J>1 and U+V>1. 1 < 1 G(NJ) = G(U,V) => S(M,Y) is t-conorm. Now For de-Morgen triplit S(MO) = NET (NUNING)]7 N(NUN) N N(S)) if NUN+NOS) >1 N(O) otherwise 1-min (N(X), N(S)) if N(n) + N (5) > 1 1-(0) o they wise max (1-NUN), 1-N(1)) if (1-N(N))+(1-N(Y)) <1 1 otherwise man (1-(1-n)), 1-(1-3)) if (1-(1-n)+(1-(1-3)) < otherwise man (N, Y) 15 N+421 1 otherwise KVY if N+YCI 1 otherwise . S(M, Y) = S(M, Y) Thus triplet (S.T.N) Form a demorgon t-iplat Scanned with CamScanner

Ph 27 Huzzy implication : Let I: [0,1] -> [0,1] be a function if the following Conditions are Fulfilled: (i) if x sys then I (x,z) > I (y,z) i-e I is decreasing in it first variable. (ii) if $y \leq z$ then $I(x,y) \leq I(x,z)$ i.e I is increasing in it second variable. (ii) I(1,0) = 0, I(0,0) = I(1,1) = 1then I is called fuzzy implication. Example: (3.35) [1 if KSJ I3(NJ) = {3/2 if KSJ are fuzzy implication. proof :-(i) if $x \leq y$, then $I(x,z) \geq I(y,z)$, i.e. I is decreasing in it first variable. => if X sy. there are three cases (a) KEYEZ => KS:12 => I(MZ)=1 > y < z > I (y,z) = 1 Mus I(3,2) = I(4,2) (b) rezey $\Rightarrow \chi \leq z \Rightarrow T(x,z) = 1$ => y> z => I (y)z) = = 2/4 Thus (I(N,Z) > I(Y)Z) (c) ZLNLY since ney 2/21 + X>Z => 1 24 2/4 (= 5 50 fe ZZZ Z $I(n,z) \geq I(y,z)$

ph 28 Thus in all three cases I is decreasing in its 1st variable. (ii) if yEz then I(My) = I(Mz) i-e T is increasing in 2nd varible if yez then there are three cases (a) x 474Z => x < y => I (n,y)=1 => n < z => I (n, z)=1. Thus (I(M,y) = I(M,Z) (b) YCKEZ. => N == => I(n,z)=1 => y < n => I (n,y) = 3/21 Thus $[I(n,y) \leq T(n,z)]$ (C) YCRCN => x>y => I(M,y) = 4/x = K>Z = I(N,Z)= Z/N SINCE Y SZ J LZ => I (m, y) = I (m, z) Thus all in three cases I is increasing in 2nd variable. (iii)] (1,0) = 0since x>y => I(1,0) = 1/2 = == 0 (I(10) = 0) I(0,0) = I.(1,1) since n=y in both cases then Scanned with CamScanner

Ph 29

I(0,0) = I(1,1) = 1Thus from (i),(ii) and (iii) I are fuzzy implication. Example :- I (1,y) = man {1-23 is fuzzy implication, -proof :-(i) if $n \leq \gamma$ then $I(n,z) \geq I(y,z)$. X < =>] (MZ) >] (J)Z) man { 1-x, z} > man { 1-y, z} example. X=0.3, y=0.4, Z= 0.5 man & 1-12 23 > max & 1-3, 23 man & 0.7, 0.53 > max & 0.6, 0.53 10.720.6] => since 264 N 2 - 7. 1-221-4 may (1-1)=> max {1-3,2} I (M,Z) > I (4,Z) (ii) y 4 z -> max (I-X, Y) & man & I-N, Z} 1 (N, y) & I (N, z) example 0.460.6 man & 0.3.0.425 man 20.3,0.63 0.4 50.61. (iii) I (1,0) = man {1-1,0} = man 20,02 = I (10) = 0 5 I(0,0) = man {1-0,03 = man {1.03 = 1 (ILOID)

Scanned with CamScanner

ph 30

I (1,1) = man & 1-1, 13 = man 20, 13 =>/I(1,1)=1 Thus from (i) (ii) and (ii) I (1) J= (-Wy is fuzzy implication. Enample: I (1,3) = min {1- 1+ y . 13 is fuzzy implication. -proof :is if ney x 54 1+2) 2 (1-4+2 min & 1-N+Z, 13 > min & 1-3+Z, 13 $I(N,Z) \ge I(y)Z$ Ji Lij MLZ - N+ Y 4 - N+Z 1-21+7 4 1-M+Z min & 1-1+4,13 < 41-1+2,13 min II (MUZ) & I (MUZ) (iii) I (1,0) = min {1-1+0, 13=min {0,13} => (I(1)0)=0 (1,1) = min { 1-1+1, 13=min { 1,1} I(1.1) = 1 1(0,0) - min & 1-010,13 = min & 1,13 => (J.(0,0).=.1) Thus from (i) (ii) and (iii) I is fyzzy implication.

Scanned with CamScanner

Ph 31 . Theorem 2.36: If I is a fuzzy implication and if N is a Negation then I'(N,y) = I(N(y), N(h)) is a fuzzy implication. Proof :-(i) if NLY > N(Y) < N(W) .. by definit -ico of Negation . Since I is implication then by using 2nd condition if yez then I (M, y) & I (K, Z) since N(3) = N(1) then I(NW)NW) & I(N(Z),N(X)) $I(y,z) \leq I(x,z)$ \Rightarrow If $x \leq y$, then $|I'(y,z) \leq I'(y,z)|$ ii) if yez - N(Z) <N(y) .: by definition of Negetion. Since I is fuzzy implication then by using 1st condition. If $K \leq Y \Rightarrow I(N,Z) \geq I(Y,Z)$ Since $N(z) \leq N(y)$ or $N(y) \geq N(z)$. I(N(3), N(N)) = = I(N(2), N(N)) $I'(n,y) \leq I(n,z)$ (iii.)__ $I'(1,0) = \overline{I}(N(0), N(0)) = I(1,0) = 0$ $\Gamma'(1,1) = T(N(1), N(1)) = T(0,0) = 1$ 1'(0,0) = T(N(0), N(0)) = T(1,1) = 1" Thus 1'(1,3) = I(N(3), N(4)) is fuzzy implication.

(1) x ≤ 1 ⇒ N(x) ≥ N(J) 5(N(X),Z) ≥ 5(N(3),Z) $I(1,z) \ge I(1,z)$ ph 32. I is decreasing in 1st variable. 2.36 -proposition :- Let I be fuzzy implication then () I (0,N) = 1 V N E [0,1] (1) I (4,1) = 1 & x E [0,1] -proof. (i) Since I(0,0)= 1 $I = I(0,0) \leq I(0, n)$ 1 & I (0,x) - (1) ------Also $I(0, N) \leq 1$ (ii) \Rightarrow $1 \leq \overline{I}(0, N) \leq 1$ => I (0,4) = 1 ... V n E [0,1] (ii) Since I(1,1) = 1 $I = I(I_0 I) \leq I(X_0 I)$ $I(n,1) \ge I(1,1) = 1$ $T(N,1) \geq 1$ (i). ALSO -1 (m) ≤ 1 -(ii) $1 \leq I(w,1) \leq I$ [I (N,1) = 1] V N E [0,1] S-implication :et 5 be t-conorm and N be a strong negation. Then I(N,Y) = S(N(N),Y) is called S-implication. proposition 2.39 :- I (x,y) = 5 (NUX), y) is an implication. proof stullet NEZ then N(N) > N(Z) and 5 (N(2), y) > 5 (N(2), y) $\underline{\Gamma(n,y) \geq \Gamma(z,y)}$ So I is decreasing in 1st variable Scanned with CamScanner

y EZ S(NUMING) ES(NUMINZ). $= I(N,Y) \leq I(N,Z)$ ph-33 in its 2nd varible. til) (iii) I(1,0) = S(N(1),0) = S(0,0) = 0I (1,1)= S(N(1),1)= S(0,1)= 1 T(0,0) = S(N(0),0) = S(1,0) = 1Thus I (NO) = S(N(N), J) is implication. Example (2.41):-Let sing)= n+y-ny N(M) = 1-M. then I (M,J) = 1-N+NY is the S-implication. S(NJ) = x+y-xy is t-consm and N(X) = 1-X is strong negation then s-implication as; I (N, Y) = S(N(N), Y) = 5 (1-12, y) - 1-X+Y- (1-K)Y I (My) = 1-X+XY is the s-implicat-100-Example :- (2.42) S(NY) = min (N+Y,1) $N(x) = 1 - \chi$ I (My) = min(1-N+Y) is 5-implication proof :- s-implication is; I (1) = S(N(1), 7) = 5 (1-N, y) = min (1-K+J_1) = I (NJ) proof.

ph 35

(Residual-Implication (R-implication) :-Let T be a t-norm. IT (noy) = Sup { z] T (noz) ≤ y } is called R-implication. Proposition (2.45):-R-implication is implication Proof :-(i) $\mathcal{N}_1 \leq \mathcal{N}_2 \Rightarrow T(\mathcal{N}_1) z) \leq T(\mathcal{N}_2) z), \forall z \in [0,]$ if Zo € { Z | T (N2,Z) ≤ y } $\Rightarrow Z_0 \in \{ Z \mid T(n_1, Z) \leq y \}$ {z| T (n2,z) ≤ y3. C { z| T (n1,z) ≤ y} IT (x2,3) = Sup {z | T (N2,z) ≤ y} ≤ Sup {z | T(m1,z) ≤ y} = IT (n1,3) IT (2237) = IT (21,0) 31) IT(1,0) = Sup { = T(1,0) = 32 = Sup { 21 0 = 32 = $I_T(1,1) = Sup\{z|T(1,1) \leq 3\}$ = Sup { 2 1.1 = 33 = Sup [0, 1] I+ (0,0) = Sup {= 1 T(0,0) = yz =

Ph 35 (i)Enample 2.47 - T(MJ) = min(MJ) gives the R-implication T(N, y) = NNY then IT (My) = Sup { z / NAZ ≤ y} There are two cases if ney then possible value of z is that at which we take minimum with n and the regulto is less or equal to y. U. > I+ (N,y) = Sup[0,1] = 1. if x>y IT (My) = Sup { z] MAZ < y} then possible velue of z will be less or equal to y. IT (ON) = Sup [0, y] = y. $IT = \begin{cases} 1 & n \leq y \\ T = \int y & n > y \end{cases}$ Thus_ example x=0.2, y= 0.6 if x < y KAZE 0.6 0.2N[0.1] 40.6 1F X=0-6, 3= 0-2 K24 NNZ = Y = 0.61[0, 9] = 0.2

Ph 35 (ii) example 2.47: T(n,y) = xy gives the R-implication. T(n,y) = ny $I_T(n,y) = Sup \{z \mid nz \le y\}$ There are two cases if ney Then posisible value of ZELO. 1] IT (MOD) = SUP {[0,1] | K[0] = Y} $= Sup\{Lo,1]\} = 1$ $\frac{if \, x > y}{I_T (x,y) = Sup \left\{ [0, \frac{y}{\sqrt{3}} \mid \frac{xz \le y}{2} \right\}}$ = Sup $\left\{ [0, \frac{y}{\sqrt{3}} \mid \frac{xz \ge \frac{y}{2}}{2} \right\}$ = Sup $\left\{ [0, \frac{y}{\sqrt{3}} \mid \frac{xz \ge \frac{y}{2}}{2} \right\}$ = Sup $\left\{ [0, \frac{y}{\sqrt{3}} \mid \frac{xz \ge \frac{y}{2}}{2} \right\}$ IT (1.3) = { y is noy example if noy 1=0.20 y= 0.6 0-2 2 5 0-6 if z=1 0.2 < 0.6. K ZE[0.1] 16 x>4, N=0.6, 4=0.2 0.6[0,0.2] 20.2 0 ≤ 0.2 × ZE0 0.2 60.2 - 2= 0.2 0+6 $\frac{2.46}{T_{T}} = \frac{T(n,1)}{T_{T}} = \frac{\chi}{T(n,1)} \leq \chi_{3}^{2}$ = Sup {z | x = y] => IT (my) = Sup {[01]} = 1

Ph 36

Fuzzy Equivalence :- (2.68) A function $E: [0, 1]^2 \longrightarrow [0, 1]$ is q fuzzy equivalence if it satisfies the following Conditions: E1: E(1,3) = E(4,1) E: E (0,1) = E (1,0) = 0 E3: E(N,N) = 1 Y XE [D] E4: if x ≤ x ≤ y ≤ y then E(2 y) ≤ E(x'y) denoted be newy Theorem 2.49:-The following statment are equivalent: (a) E is fuzzy equivalence (b) There exist a fuzzy implication I with the property I (M, K)= 1 V KE[0,1] Such that E(x,y) = min [I(x,y), I(y,x)] (b) There exist a fuzzy implication I with the property E (21,3) = I (man {21,3}, min {1,3}) Proof 1- b-a Let E(n.y) = min [I(n,y), I(y)n]. Then We can easily check the Condition properties Ei -> Ez. E, : E (1,3) = min [I (1,3) = I (314)] = min [I (214), I (213)] =. E (3, N) => E (*.7) = E (y, N) E2: E(0,1) = min [1(0,1), 1(0)] $= \min \left[1 > 0 \right] = 0$ $E(1,0) = \min [I(1,0), I(0,1)] = 0$ -

Ph 37 E3: $E(n,n) = \min[I(n,n), I(n,n)]$ $= \min [1, 1] : T(x, n) = 1$ E(n,n) = 3E4: DOIF NENEY'EY then $E(n_{3}) \leq E(n'_{3})$ XLLY $I(x,x) \geq I(y,x)$ NEY $I(n,n) \leq I(0n, y)$ $\Rightarrow I(y,n) \leq I(n,n) \leq I(n,y)$ means E (1,5) = I (3,1) => E(x,y) = I(y,x) Similarly E(N'sy) = I(y'n') Now we show E(M,J) = E(N,J) ON I (JM) S I (J'M') NEX $I(y', x) \leq I(y', x')$ YEY $I(y',n) \ge I(y,n)$ $\Rightarrow I(\Im n) \leq I(\Im' n) \leq I(\Im' n')$ I (JM) = I (J'M) => E(N)) = E(N, Y) Hence E is fuzzy equivalence

Ph 38 Example I (N,y) = min { 1- 1+ 4, 13 Find E (11, 7) and then verify it is fuzzy equivalence E (1, 3) = min [I (1,3) , I (3,1) = min min{1-4+4,13, min{1+3+4,13] E(ny) = min [1-n+y, 1-y+n] (i) E(x,y) = E(y,y)E (My) = min [1-x+y, 1-y+x = min[1-y+x, 1-x+y] E(My) = E(My) E(0,1) = E(1,0) = 0(ii) $E(0,1) = \min[1-0+1, 1-1+0] = \min[2,0]$ E(0) = 0 E(1,0) = min [1-1+0, 1-0+1] = 0 (iii) E(N,N)=1 V KE[0,1] E (NOC) = min [1-x+n, 1-x+n] = 1r (iv) if $X \leq x' \leq y' \leq y \Rightarrow E(x,y) \leq E(x',y')$ Since I (Ny)= min & 1-2+4,12 IF K 44 > I(x,x) ≥ I(J,N) because 1 = T(4)A) IF KEM $\rightarrow I(\chi, \chi) \leq I(\chi, \chi)$ => I(y)n) & I (MM) & I(My) ⇒ E(Ny)=I(y)N)

gr no Similarly E(x(y') = I(y',n') Now we show I(y,n) < I(y',n') REN < I(Y'n') I (y', x) y' < y > I (UN $I(y_n) \leq I(y'_n) \leq I(y'_n')$ $I(y_n) \in I(y'_n)$ $E(n,y) \leq E(n',y')$ Thus E (My) is fuzzy Equivalence Hence Example (Assignment):-NEY if I (n.y)= XSY 3/4 if Find Fuzzy equivalence and then Verify E (n, y) = min I(My), I(y,x) AS There are three cases wif ... ンニー 취 E(ny) = min 1 JEN if as I(yon)= ×14 y>x if min[Kenn), I(min)] (2) if E (M, J) = min nh Г (3) if x>y 5m 31 E (y,x)= min J/n = Scanned with CamScanner

Ph 40 Thus E(M,y)= if K=y 1 if 2/4 ney 5/2 if YXX Verification:- $(a) = E(\underline{m},\underline{n}) = E(\underline{m},\underline{n})$ 1 if ney E (11,7) = Ny if ney In if yeu = for if yex lugy if ney E(ny) = E(yn) (b) E(0,1) = E(1,0) = 0E (0,1) = { n / n < y = { 0 0<1 => 0 E(10) = { 4/2 if yer = E = o <1 => 0 E(0,1) = E(100) = 0 (C) E(M, N): I V NE[0,1] E (non) = if y=x 1 n/n if nen if nen n/n if K=n { 1 1 1

phul (d) if reriging = E(my) < E(my) $E(n,y) = \min[I(n,y), I(y,n)]$ XLY $\Rightarrow I(n,n) \ge I(y,n)$ $\geq I(y, n)$ $\Rightarrow I(n, n) \leq I(n, y)$ $I(\gamma,n) \leq I(n,n) \leq I(n,\gamma)$ $\Rightarrow E(n,y) = I(y,n)$ Also E (n'y') = I (y'sn') NOW we prove E(M,J) < E(M',J' XLX $I(y', \chi) \leq I(y', \chi)$ YEN $I(y', n) \ge I(y, n)$ $I(y_{n}) \leq I(y'_{n}) \leq I(y'_{n})$ E (my) < E (my)) E(moy) is fuzzy equivalence Thus

Ph 44

Chapter 3 Fuzzy Relation classical Relation: A Subset RCXXX where X and Y are classical sets is a classical relation. 9t can be characteraized by a function R: XxY -> {0.1} R(NJ) = {1 if (NJ) ER Fuzzy Relation:-X and Y be two classical sets. A mapping R: XXY -> [0,1] is called a fuzzy relation. @B A fuzzy relation on AXB is denoted by R or R(ny) is defined as the set R (3,3) = {((1,3), HR(1,3))/(2,3) = AXB, MR (N.J) E[0,1]] * MR (20, y) E CO, 1] is a degree of relation--ship between x and y. * we denote by F(XxY) the family of all Juzzy relations b/w elements of X and Y * A fuzzy selation between elements in two finite sets X= {x1, 12,..., xm3 and Y= E y1. y2, ... yn3 con be represented as a matrix $R = \begin{pmatrix} R(1,231) & R(1,232) & R(22,23n) \\ R(1,232) & R(1,232) & R(21,23n) \\ \end{pmatrix}$ 0: (R(Km, JI) R(Mm, Jz) -... R(Mm, Jn)

ph 4:

* Since fuzzy relations are themselver fuzzy sets, it is possible to perform fuzzy sets operations on them (i)N(R(x,y)) = 1- R(x,y) (i) (R V S) (NO) = R(NY) V S(NY) (iii) (RAS) (NO) = R(NO) ~ S(NY) (iv) R'(NUD) = R(YUN) we also consider t-norm and s-norm oper action's W) T(R(P)(N,y) = T(R(N,y), P(N,y))(NI) S (R,P) (M,y) = S (R(M,J), P (N,y)) Example :- show how Fuzzy relation are represented Let V= {1, 2,33 and W= {1,2,33 A Furzy relation R is a function defined in the space VXW which takes values from the internal CONTRAPPRESSED as R: VXW -> [0,1] $R = \left[\{ \{1,1\},0,2\}, \{\{1,2\},0,6\}, \{\{1,3\},0,q\} \right]$ EE 3.13, 03, [[3, 23, 0.13, EE 3, 3], 0.7] In mate in form VXW 1 - 2 3 RA 1 0.2 0.6 0.9 1 0.3 0-5 2 3 0. 0.1 0.7

Available at www.MathCity.org

Ph 46 -omposition: The operation "composition" Combine the fuzzy selation in different variables say (rug) and (y,z); NEA, JEB, ZEC. Max-Min Composition :- Let REF (2420) and SEF (YXZ) be fuzzy relations then ROSEF (X XZ), defined as, ROS (N,Z) = V (R(N,Y) NS(J,Z)) is called the Max-Min Composition. of R and S. denoted by Ros * IF RE F(XXY) then we can defined R2 = ROR generally R" = ROR"-1 For NZ2 * Let X= {21,, 22, -... Xn3, Y= { 01, 12, Jm3 Z= { Z1. Z2 ... Zp3 be finite sets if R=(Xij);=1, m, j=1, m E F(X × Y) and S=(Sik) j=1,...m, K=1,...PE F(YXZ) are Fuzzy selations then the Composition T= (tik) i=1, max=1, mp @= ROSE F(XXZ) is tik = V (ris NSSK) Example (3.7) page 35 :-IF R= (0.3 0.7 0.2 0 S= (0.8 0.3 0.1 0 then Find Ros 0.6 Scanned with CamScann

phui Solution: Consider YYZ XxY 71, 72 YI Y3 S≜ Y2 8.0 0.3 0.2 Y. 0.7 0.3 XI D 1.0 0 0.9 1/2 X2 0.5 0.6 Ya $Ros(x,z) = V(R(x,y) \wedge S(y,z))$ step (1) Compute minimum operation min (R(20,31) S(31,21))= min (0.3,0.8)= 0.3 . min (.R (11, 12), S(2, Z))= min (0.7, 0.1) = 0.1 min $(R(n_1, n_3), S(n_3, 2_1) = min (0.2, 0.5) = 0.2$ $\min(\mathcal{R}(31,31),5(31,22)) = \min(0.3,0.3) = 0.3$ min (R (21, y2), S(y2, Z2))=min (0.7,0)= min (R (11, 73), 5(73, 22))= min (0.2,0,6)=0.2 min (B(N2, 31), 5 (31, 21))=min (1,0.8) = 0.8 min (R(22, 32) S(J2, Z1))=min (0, 01)= 0. min (R (12, 73), S(33, Z1))=min (0.9, 0.3)= 0.5 min (R (12 - 21) 2 5 (20 22))= min (120-3) = 0-3 min (R(N2, y2), S(72,22))=min (0.0) = 0 min (R(N2, 33), SLY3, 22))=min (0.9,0.6)=0.6 Step (2) Compute Maximum operation: Man (B(M,Z1))=man (0.3,0.1,0.2)= 0.3 Man (R(21,22))=man (0.3,0,0.2)= 0.3 man [R. (12, 21))-man (0.8, 0, 0.5) = ...0.8 Man (.R(22,22)) = man (0.3, 0,0,6) = 0,6 Scanned with CamScanner

ph 48

Thus Ros(x,z)= XxZ Zz 21 0.3 0.3 XI 0.6 0.8 X2 is the required Man-Min Composition. Assignment NO.1 Umari Saeed MSC 4th Roll No 29 proposition 3.8: (i) The max-min Composition is associative i-e (Ro SpQ = RosoQ) where REF(XXY), SEF(YXZ), QEF(ZXU) proof :-LHS (Ro S)Q (21,50) = man { min {Ros(2,5), Q(2,0) = max { min { max { min { R(x(3); S (3, z) }} } (3, 2) } now For Some YEY, KEN = max { min { min { R(2,11), S(2,2) }, Q(2,1) } now For ZMEZ. MEN = min $\{\min\{R(x_k,y_k), S(y_k,z_m)\}, Q(z_m,u)\}$ = min {R(N, YK), S(YK, Zm), Q(Zm,U)} _ O RHS Ro(SOQ) (XU)= max { min { R(21,3), SOQ(21,0)}} = man { min { R(N,Y), max { min { S(J), Q(Z,U)} 333 = max {min { R(21, 3), min { S(3, 2m), Q(2m, 0)}} for Zm EZ, MEN

phug = min { R(N, y), min { S(yk, Zm), Q(Zm, u)}} For JKEY, KEN = min { R(n, Jk), - 5(Jk, Zm), Q(Zm,U)}-0 From () and () we have L'HS = RHS (Ros) oQ = Ro(SOQ) (ii) Let RI, RZE F(XXY) and QEF(YXZ) If RIER2 then RIOQER20Q Proof :-R, Q (71, 2) = V{R, (71, 5) NQ (5,2)} R20Q(NJZ) = V { R2(NJ) ~ Q(JJZ) } Y { R, (n, y) A Q (y, z) } < Y { R2 (n, y) ~Q(y, z) } ROQ(MZ) ≤ RookQ(MZ) Proposition 3.9: For any R.SEF(XXY) and QEF(YXZ) we have (j) $(RvS) \circ Q = (R \circ Q) v (S \circ Q)$ proof :-(RUS) = V {(RUS) (NY) N Q(4,2)} - V (R(Ny) AQ(4,2)) V (S(MJ) AQ(4,2)) L V R (MIS) A Q (SIZ) V V S(MIS) A Q (SIZ) Scanned with CamScanner

ph 50 $(Rvs) \circ Q \leq (R \circ Q) \vee (S \circ Q) = (D)$ op the other have RoQ < (RUS) Q and SOQ 4 (RUS) OQ \Rightarrow (RoQ) \vee (SoQ) \leq (RVS) \circ Q - \odot From D and 2 we have (RVS)0Q = (ROQ)V(GOQ) $(ii)(R \land S) \circ Q \leq (R \circ Q) \land (S \circ Q)$ (R NS) 0Q (11,2) = V (R NS) (11,1) N Q (1,2) = V (R(11)) A (13,2)) A (S(11,3) A Q(3,2)) L V (R(M, J) N Q (J,Z)) N V (S (M,J) N Q (J,Z)) (RAS) QUUE (ROQ) ~ (SOQ) Min-Max Composition: Let REF(X,Y) and SEF(YXZ). then ROSEF(XXZ), defined as $\frac{R \cdot S(\eta,z) = \bigwedge R(\eta,y) \vee S(\eta,z)}{\min \max Composition of the Juzzy relation Rand S.}$ $\frac{\min \max Composition of the Juzzy relation Rand S.}{Example (3.12) if R = (0.3 0.7 0.2), S = (0.8 0.3)}$ 0.1 0.6 0.5 , find R.S Soutiona (i) Compute max operation :man [R(11,41), S(41,21)] = man [0.3,0.8] = 0.8 man [R(21, 22), S(22, 21)] = man [0.7, 0.1] = 0.7

phsi man [R(11, 43), 5(43, 21)] = man [0.2, 0.5]= 0.5 = man [0.3, 0.3] = 0.3. = man [0.7, 0] = 0.7 = man [0.2,0.6] = 0.6 = man [1, 0.8] = 1 = man [0, 0.1] = 0.1 = max [0.9, 0.5] = 0.9 =man [1.0:3] = . . 01 = man [0, 0] = 0 =man [0.9, 0.6] = 0.9 (ii) Compute minum minimum operation:-R.S (MZ) = min [R(N1,21)] = min [0.8.0.7.0.5] = 0.5 = min[0.3, 0.7, 0.6] = 0.3 = min [1, 0.1, 0.9] = 0.1 0=[e.o.o.l] nim R. S(11,2)= XXZ Z Z, XI 0.5 0.3 Xz 0.1 0 Scanned with CamScanner

Ph 52 Assignment (02) Umar Saeed Roll no. 29 Proposition (3-13): (1) The Min-Man Composition is associative i-e (R.S). T= R. (S.T) $R \in F(X, y), S \in F(y, z), T \in F(z \times U)$ for Droof :- LHS (R.S) .T = min Eman & R.S (N,Z), T(Z,U)} = min { man { min { man { R(ny), S(y,z)}, T(zu)}} = min {max {max {R(NYK), S(YKJZ)}]T(ZU)}} for some YKEY and KEN man {man {R(NYK), S(YK, Zm)}, T(Zm,U)} for some ZmEZ and MEN = man { R(NJK), S(YKJZm), T(ZmU)}, 0 R.H.S Ro (SOT) (4,0) = min {man { R(4,3), SoT (3,0)}} = min & man { R(2,3), min & max { S(3,2), T(2,0)}]]] = min & max & R(xy), max & S(y, 2m), T(2m, U)}} - man & R(NYK) man & S(YK, Zm) T(Zm,U)} For Some YKEY, KEN man { R(21, yk), 5(yk, zm), T(zm, u) } (2) Forom Dand @ we have $(R \cdot S) \cdot T = R \cdot (S \cdot T)$

pass (ii) Consider Ri. R. E.F. (XXY) and REF (Yzz) if RIGR2 then RIOQ < RIOQ Proof :- $R_{I} \circ Q = \bigwedge_{y \in y} R_{I}(x, y) \vee Q(y, z)$ A Ra (My) VQ(YZ)= Ra Q RIOQ(NZ) < RIOQ(NZ) if RIER. Doposition 3.14 :- For any R.SEF(XXY) TE(YXZ) we have and $(i) (R \wedge S) \bullet T = (R \bullet T) \wedge (S \bullet T)$ (ii) (RUS) • T = (R. T) · (S. T) Proof :- $(R \land S) \bullet T = \bigwedge_{ev} ((R \land S) \lor T (v, z))$ (i) R(M, Y) VT (Y,Z) A 5(M, Y) VT (Y,Z) SEY ELA RONDIV. T(MZ)]N[: A SUMPIUT(3,2) ROT (MIZ) N(SOT) (R. T) A (S.T) -0 the other hand ROT 2 (BAS) . T G.T 2 (RNS) .T ROT) N (SOT) = (RNS) .T. From O and (D $(\mathbb{R} \setminus S) \circ T = (\mathbb{R} \circ T) \wedge (S \circ T)$ Scanned with CamScanner

Ph 54 (ii) $(RvS) \cdot T = A (R vS) \vee T(v,z)$ = A (R(N)) V ((5(V)) V (S(N))) $\geq \bigwedge [R_{(m,r_3)} \vee T_{(r_3,z)}] \vee \bigwedge [S(x_{r_3}) \vee T_{(r_3,z)}]$ = (R.T) V (S.T (RVS) oT = (ROT) V (SOT. $\begin{array}{c}
\operatorname{Remax} k(3.10) := R = \begin{pmatrix} 1 & 0 \\ 1 & 1 \end{pmatrix}, \quad 5 = \begin{pmatrix} 0 & 1 \\ 1 & 1 \end{pmatrix} \\
= \left(\begin{array}{c} R & \Lambda \\ \end{array} \right) \circ Q = \begin{pmatrix} 0 & 1 \\ 1 & 1 \end{pmatrix} \\
= \left(\begin{array}{c} R & \Lambda \\ \end{array} \right) \circ Q = \begin{pmatrix} 0 & 1 \\ 1 & 1 \end{pmatrix}$ and $(R \circ Q) \land (S \circ Q) = \begin{pmatrix} 1 \\ 1 \end{pmatrix}$ Remover (3.15) = R= (1 1), S= (1 1) T= (0 0) ⇒ (RV5) • T = (1 1) and $(R \cdot T) \vee (5 \cdot T) = (1 1)$ Proposition (3.16) :- If we consider the standard negative we have (1) Ros= Ros, (11) Ros= Ros ROS(NZ) = V RONJAS(YZ) (D = A R(4,3) A 5(4,2) Sey = A R (21,3) V 5(2,7) = R. 5 (ii) similer way.

Available at www.MathCity.org

Scanned with CamScanner

pn 55 Min -> Composition: Let > be the standard Grodel implication x→y= Sup {ZE[0,1] x NZ ≤y}= {y oitherwise defined as Proposition 3.18 - For any Myze CO.17 we have (i) $(x, vy) \rightarrow z = (x \rightarrow z) \land (y \rightarrow z)$ Proof: Case (1): if my < z then my > z=1 also we have nez and yez then N->Z=1, y->Z= $-(n \rightarrow z) \wedge (n \rightarrow z) = 1 \wedge n = 1 - 0$ Fr A=B Case (2): if nvy > z then (nvy) > z: 1 also we have nazzy zzz Thus (2>>>> A(y>>>)-> -> D. Thus in both cases $(nvy) \rightarrow z = (n \rightarrow z) \wedge (y \rightarrow z)$ (ii) (n ny) -> z = (n > z) v (g -> z) Case (2): if may be then (NNY) = 1 (2) Also KEZ and YEZ. Man y -> Z=1; y+>Z=1. so (x→z) × (y→z)= 1-0 A= B Case (2): if nny>z the MAY _> Z = ZJ also N>Z, YZZ then N->= Z - y-> Z=Z so $(n \rightarrow z) \vee (y \rightarrow z) = z - 0$ Thus in Both cases $(\mathcal{X}_{AY}) \rightarrow \mathbb{Z} = (\mathcal{X}_{AZ}) \vee (\mathcal{Y}_{AZ})$

ph 56 (iii) $x \rightarrow (y \lor z) = (x \rightarrow y) \lor (x \rightarrow z)$ Case (1) if KLYVZ then K-YVZ=1 also occy and Xi < z = then $(n \rightarrow y) \vee (n \rightarrow z) = 1 \vee 1 = 1$ Case (2): if x 2 yuz then N-> YUZ = YUZ also x >y > x >y=y 00 Y/>Z => X->Z=Z (n->y)v (yevz) = yvz Thus in Both cases_ 1(~)(yuz)= (2 ~~) v(g(~~z) (iv) $\chi \longrightarrow (\eta \wedge z) = (\chi \rightarrow \eta) \wedge (\chi \rightarrow z)$ Case a) if XLYAZ then N-> (YNZ)= 1 also KEY or xy Ez then x=>y=1 or x->z=1 $(\mathcal{X} \rightarrow \mathcal{Y}) \wedge (\mathcal{X} \rightarrow \mathcal{Z}) = 1 \wedge 1 = 1$ Case (2) if 2> yAZ then N->YNZ= YNZ glso N>y => x = y = y and a N>Z => N->Z=Z thus. (ny) N(n >2) = y NZ In Both cases $\lambda \rightarrow (\gamma \wedge z) = (\lambda \rightarrow \gamma) \wedge (\lambda \rightarrow z)$ (\vee) $\mathcal{X} \wedge (\mathcal{X} \longrightarrow \mathcal{Y}) \leq \mathcal{Y}$ Case (1) if ney then x (x -> y) = x na = x & at 2y (already) Case (2) if noy the ma (2-33) = 2113=7 Scanned with CamScanner

phst In Bothe cases x (x > J) = y (IV) x -> (xng) = y Case (1) if KEY then x > x Ny = N > X = 1 > y > (RAY) = KAY R > Y = Y Case (2) if x>y Thus R-> (KAy) > y (vii) > begause 14g $(\chi \rightarrow \vartheta) \rightarrow \vartheta \geq \chi$ 1-> y = y >x (already)--Case (1) if $(x \rightarrow y) \rightarrow y =$ Case (2) x >y $(\chi \rightarrow \partial) \rightarrow \partial = \gamma \rightarrow \partial = 1 \geq \chi$ \Rightarrow $(x \rightarrow y) \rightarrow y \geq x$

Scanned with CamScanner Scanned with CamScanner

ph 59 main 1-1 In the present we simply use the 1_Simply we call Subcomposition IF RSEF(XXY) and Min -> Composition such that RES then Proposition 3-21:is decreasing in the first QEF(YXZ) (N,Z) JQ(n,z)= A R(n,z) -> Q(z)z) Sin CP____ > Q (3, 2) 5(1)-2 (n.Z) and QEF(YXZ) we have $= (RAQ) \wedge (SAQ)$ previous preposition and Q RA (RVS) 54Q (RUS) JQ RUS) aQ 2 (ROQ) (SOQ) (a) 2VS) & Q (m,z) = A ((R(m,y)VS(m))) -> Q(y)z Also $R(n,y) \longrightarrow Q(y,z)) \land (S(n,y) \rightarrow Q(y,z))$ Rand) Q(y,z)) ~ (S(M,J) -> Q(J, aQ) N (S a Q) ____ (b). and b From RVS) AQ = (RAQ) N(S AQ) Scanned with CamScanner

ph. 60 $(ii)(RAS) \Delta Q \ge (R \Delta Q) \vee (S \Delta Q)$ Cis (RAS) AQ > (RAQ) (RAS) dQ > (SdQ) and thu 5 $(R \land S) \land \geq (R \triangleleft Q) \lor (S \triangleleft Q)$ uzzy Relational Lav's with / in and compositions :- we consider the Tollowing two Fuzzy relational eq $R \circ P = Q$ and RAP=Q with $R \in F(X \times Y)$, $P \in F(Y \times Z)$ € F(X×Z PTO Scanned with CamScanner

61 Assignment No.02 Umar Saeed Roll no. 29 The following inequiliber bold true PER a(Rop) (i) Poort For every yEY and ZEZ we have $\frac{\mathbb{R}' \triangleleft (\mathbb{R} \circ \mathbb{P}) (1, z) \circ \bigwedge \mathbb{R}' (3, n) \longrightarrow (\mathbb{R} \circ \mathbb{P})(x, z)}{x \in X}$ R' (SIR) -> V R(not) AP(LZ) NEX $\mathbb{R}(n, y) \rightarrow \mathbb{R}(n, y) \wedge \mathbb{P}(y, z)$ KEX $P(y_{z}) = P(y_{z})$ NEX N->Y=1 iF NEY X -> Y= y is n>y $\leq \mathcal{R}' \triangleleft (\mathcal{R} \circ \mathcal{P})$ P $\mathcal{R}' \triangleleft \mathcal{Q} \leq \mathcal{Q}$ Rol $\langle ii \rangle$ Proof :-For every rex and ZCZ ne have Ro(RAQ) (n,z)= R(1,5) N (R' 3Q) (9,2) YEY R(NO) N(AR'(3,1) - Q(L)=) yey R(ND) A(R' (SM) -> Q(NTZ) JE Y Scanned with CamScanner

ph-62 K(MOD) A (R(MOD) -> Q(MOZ)
 Sey $\leq \bigvee R(n,y) \wedge Q(n,z) \leq \bigvee Q(n,z) = Q(n,z)$ yey - X->y=y if x>y · N-JJ= 1 if KEY Thus $\mathbb{R}_{\circ}(\mathbb{R}' \triangleleft \mathbb{Q})(x,z) \perp (\mathbb{R}(x,z))$ (iii) $R \leq (P \triangleleft (R \circ P)^{-1})^{-1}$ Proof: For every nEX, yEY $(P \triangleleft (R \circ P)')^{-1} (x, y) = P \triangleleft (R \circ P)^{-1} (y, y)$ = $\bigwedge P(y,z) \longrightarrow (R \circ P)^{-1}(z,x)$ $= \bigwedge \mathcal{P}(y_1z) \longrightarrow (\mathcal{R}_0^{\circ}\mathcal{P}_1)(x_0^{\circ}z)$ = A P (3,2) -> V R(nut) N P(t,2) $\geq \bigwedge P(y_{1}z) \longrightarrow R(\lambda y_{1}) \land P(y_{1}z)$ $\geq \bigwedge_{z \in \mathbb{Z}} \mathbb{R}(u, y) \wedge \mathbb{P}(y, z) \geq \bigwedge_{z \in \mathbb{Z}} \mathbb{R}(u, y) = \mathbb{R}(u, y)$ (iv) $(P \triangleleft Q')' \circ P \leq Q$ Proof Tox every NEX, ZEZ we have (PaQ') "OP(NJZ) = V(PAQ') (NJ) AP(J)Z) = V (P a Q) (y, n) A(y, z) Yey

S. S. $\Lambda P(s,t) \longrightarrow \overline{Q}'(t,t)) \wedge P(s,z)$ NA P(y,z)→ Q'(z,m)) NP(y,z) YEY 1 P(3,2)-> Q (2,2)) 1 P(3,2) Yar $Q(u,z) \land P(u,z) \neq V Q(u,z)$ yey V. BCY Thus. P dQ') oP ≤ Q Proposition: 3.26 :- Following inequility holds true : (QAP') OP >Q (i) Proof :- taking -decreasing_ in its first arguments we have 2 p') Q O P(VIJ) -> P(VIZ) $Q(m,t) \rightarrow \tilde{p}'(m,t) \rightarrow P(y,z)$ Q(n, ()=>p(trm) P(3,2) JE. Q(x,z) -> P(y,z) => P(52) Q (n,z) = Q (n,z) Thus (GAP) ap(a)> Q

Ph- 64 (ji) (R dP) dp'≥R $\frac{P \log E}{(R \triangleleft P) \triangleleft \tilde{P}(my)} = \bigwedge (R \triangleleft P) \longrightarrow \tilde{P}(zy)$ $\frac{\bigwedge (\mathbb{R} \triangleleft P)(1,z) \longrightarrow P(z,z)}{242}$ $\frac{\bigwedge \left(\bigwedge R(x,t) \to P(t,z)\right) \to \overline{P}(z,y)}{z \in Z} \to \overline{P}(z,y)$ $= \bigwedge \left(R(x,y) \rightarrow P(y,z) \right) \rightarrow P(y,z)$ $= \in \mathbb{Z}$ > 1 R (11,3) (RAP) AP' 2 R Thus (iii) R'O(RAP) SP Proof :- Rap (4,2) = V R'(4,2) ~ (Rap)(1,2) NEX $= \bigvee \mathcal{R}(\mathbf{M}, \mathbf{y}) \land \left(\bigwedge \mathcal{R}(\mathbf{x}, \mathbf{t}) \longrightarrow \mathcal{P}(\mathbf{t}, \mathbf{z}) \right)$ $R(n,y) \land (R(n,y) \rightarrow P(y,z))$ NEX From proposition 3.18 $\chi \land (\chi \rightarrow y) \leq y$ $\leq V P(3z) = P(3z)$ Thus R'o (R & P) (5, 2) & P (5, 2).

Available at www.MathCity.org

ph 65 (iv) $R \land (R' \circ Q) \ge Q$ Proof :- $\frac{\mathbb{R} \land (\mathbb{R}' \circ \mathbb{Q})(n,z) = \bigwedge \mathbb{R}(n,z) \longrightarrow (\mathbb{R} \circ \mathbb{Q})(y)}{y \in Y}$ V (R' (3, t) NQ (t, 2) R(1))-7 SEY $(\mathcal{R}(\mathcal{H},\mathcal{I})) \rightarrow (\mathcal{R}(\mathcal{H},\mathcal{I})) \wedge Q(\mathcal{H},\mathcal{I}))$ JEY From proposition 3.18 $n \rightarrow (n \wedge j) \geq j$ Q(mz) = Q(mz) Thus $\mathcal{P} \land (\mathcal{R}' \circ \mathcal{Q}) \ge \mathcal{Q},$ 1000em 3.27 ... Consider the equation with Rap=Q (1) The equation has a solution R unknown is a solution, and in this Q 4.P' iff case it is the greatest solution of this Ex. (ii) Consider the eq. RAP= Q with unknown The equation has a solution off R-OQ is a solution and inthis case it is the least solution of this en.

Scanned with CamScanner